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I. CHOOSE THE CORRECT OPTION (1x15=15)

1. Aset of norms surrounding a necessary function of society is referred to as a(n)
a. Marriage b. Institution c. Authoritarianism d. Government

2. You are a Brahmin in India. You decide to marry an untouchable. Sociologists would call this marriage
an example of
a. Exogamy b. Endogamy c. Polygamy d. Polyandry

3. “An enduring cultural structure that meets certain fundamental needs of society and establishes social
control” is definition of
a. Religion b. Economic system c. Social institutions d. Government

4. Function of social institutions is
a. To meet the fundamental needs of the society
b. To improve the society
c. To meet the need of a family
d. Economic cooperation

5. Social institutions have
a. Physical structure b. No physical structure c.None d. All

6.  Marriage by capture is prevalent among the tribes of India.
a. Gond b. Santhal c. Khasi d. Jhang

7. According to traditional Hindu Law, marriage is a .
a. Sacrament b. Contract c. Regulation of prostitution d. None

8. is the marriage of a man with all the sisters of a household.
a. Levirate b. Sororate c. Sororal polygyny d. Polyandry

9. The system under which woman can marry more than one husband and keep all of them with herself is
known as
a. Polyandrous b. Polygamous c. Patronymic d. Procreation

10. The system in which the boy and girl find their partner on the basis of love is known as
a. Arranged marriage b. Compassionate marriage c. Love marriage d. None

11. In fraternal polyandry woman is treated wife
a. Of the eldest brother only c. The youngest brother
b. Of all the brothers d. None

12. In a non-fraternal polyandry woman is

13.

14.

15.

a. Allowed to have only one husband  c. Allowed to have more than one hushand but all can live together
b. Husbands stay at different places d. None
and wife visits them

In which of the following societies polygamy is not common?

a. The Hebrews b. The Eskimos c. The Hindus d. All

Marriage gets social approval with the help of

a. Education b. Wealth c. Social ceremonies d. Legal registration
A system of marriage in which husband has only one wife is called

a. Monogamy b. Polygamy c. Polygyny d. Group marriage
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